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Number of Questions to be attempted : 16

Section Marks : 8
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266352
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 39226611001 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer regarding author and book

1. C. Raja gopala chari a. Ramcharitmanas

i.  Ravindranah Tagore b. Arctic home of vedas
iii.  Bala Gangadhar Tilak C. King of Dark chamber
iv.  Kabir Das d. The nation’s voice
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i 1-d, 11-c, 1ii-b, iv-a

4 1-d. 11-b, 11-a. 1v-C

1-b. 11-a. 1i-d. 1v-c

d

4. 1-a, 1i-d, 11i-b, 1v-c

Options:
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 2 Question Id : 39226611002 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the odd one
1. Valentina Tereshkova
2 Aryna Sabalenka

Alexel Leonov
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4. Rakesh Sharma
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Options:

1. % 1

2.9 2

3.%3
4. % 4

Question Number : 3 Question Id : 39226611003 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The largest library in India

I, Delhi Public Library, New Delhi

2 National Science Library. New Delhi
Raza Library. UP
4, The National Library of India. Kolkata
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Options :
1. % 1
2. % 2
3.%3
4.9 4

Question Number : 4 Question Id : 39226611004 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The organisation that named ‘Bharat Mandapam’ to Pragathi
Maidan in Delhi is

1. Indian Heritage Organisation
2. Indian Development Zone
3. Indian Trade Promotion Organisation

4. India for Future Society
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Options :
1. %1
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Question Number : 5 Question Id : 39226611005 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The old name of Kozhikode
1. Calcutta
b, Calicut

3. Cochin
4, Cananur
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Options :

1. %1

2.¢2

3. %3

4. % 4

Question Number : 6 Question Id : 39226611006 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Find correct answer regarding Atomic reactors in India

i Tarapur a Gujarath

i1, Narora b. Uttar Pradesh
iii.  Kakrapara £ Maharashtra
iv.  Kaiga d. Karnataka
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1 1-c, 1i-d, 111-b, iv-a
2. 1-¢, 11-b, mi-a, 1v-d
3 1-b. 1-d. 1i-c. 1v-a
4, 1-b. 1i-c. 11-d. 1v-a

Options :

1. % 1

2.¥2

3. %3

4. % 4

Question Number : 7 Question Id : 39226611007 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Find correct answer regarding rivers and birth places

1. Sagileru a. Nallamala hills
11. Kunderu b. Ananthagiri hills
111. Bahuda o Erramala hills
1v. Gostham d. Ramagiri hills
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3. i-c. ii-d. ii-b, iv-a
4. 1-a. 1i-c. iii-d, iv-b

Options :

1. % 1

2. %2

3. %3

4. 4

Question Number : 8 Question Id : 39226611008 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The largest biometric programme in the world

1. E-kyc

2! Iris

3 Aadhaar

4. Facial recognition
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Options:
1. %1
2. % 2
3.3
4. % 4

Question Number : 9 Question Id : 39226611009 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



According to Andhra Pradesh Marine Fisheries Act, fishing is
permitted beyond this k.m from sea coast.

. 5 km
2. 8 km
3. 12 km
4, 2 km
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Options :
1. %1
2.¥ 2
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Question Number : 10 Question Id : 39226611010 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Winner of 2025 Australian Open Tennis Men's singles
1. Janik Sinner

2. Alexander Zverev

Carlos Alcaraz

4. Tyler Fritz
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Options :
1.9 1
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4, # 4

Question Number : 11 Question Id : 39226611011 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



“The Panama canal is not the gift given to us by America™ -

stated by

i Jair Bolsonaro

2. Jose Raul Mulino
3 Gabriel Boric

4, Guillermo Lasso
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Options :
1. %1
2.9 2
3.%3
4, % 4

Question Number : 12 Question Id : 39226611012 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Davos. where the World Industrialists Conference was held 1s
located in this country

1. Venezuela

2. Nicaragua

2. Switzerland

4. Saudi Arabia
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Options :
1. % 1
2. %2
3.¥3
4, % 4

Question Number : 13 Question Id : 39226611013 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The first Artificial Intelligence Skill Laboratory in the state
was started at

1. Penugonda — Sr1 Satya Sai
2. Pendurthi - Anakapalli
3. Chipurupalli - Vijayanagaram
4, Kuppam - Chittoor
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Options :
1. % 1
2. %2

3.+3
4. % 4

Question Number : 14 Question Id : 39226611014 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Padmashri awardee Bhimava Dodda Ballappa Silekya Tara is a
I; Skin Puppet artist
2. Folk music artist

Social worker

Trd

4. Doctor
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1.9 1
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Question Number : 15 Question Id : 39226611015 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The Spiritual Guru of Ismaili muslims who died in Lisban.
Portugal is

1. Karim Al - Hussaini Aga Khan - 4
2. Karim Al - Hussaini Aga Khan - 3
3. Rahim Al - Hussaini - 4
4. Abdulla - Al - Hussaini - 3
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Options :
1.v1
2. % 2

3. % 3
4. % 4

Question Number : 16 Question Id : 39226611016 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Due to the orders of Donald Trump. the American President
this country currency value fell down to 42 thousand Rivals
per dollar in February. 2025

1. Vietnam
2. Uganda

Iran

L |

4, Indonesia
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1. E}div@ao
2. =Tanleles
3. 30°0

4. oERNSSE

Options :
1. %1
2. %2
3.3
4, % 4

Section 2
Section Id : 392266343
Section Number : 2
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 8
Number of Questions to be attempted : 8
Section Marks : 4
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266353
Question Shuffling Allowed : Yes

Question Number : 17 Question Id : 39226611017 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

This commission recommended the school accessibility for
primary school children within 1 kilometre radius

1. Kothari commission

b2

Sadler commission

LS}

Secondary Education commission

4. Hunter commission
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Options :
1.9 1
2. %2
3.%¥3
4. % 4

Question Number : 18 Question Id : 39226611018 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



‘Downward Filtration Theory” was introduced by

1. Kothari

2. Macaulay
3. Charles Wood
4. Hunter
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Options :
1. % 1
2.2
3.%3
4, % 4

Question Number : 19 Question Id : 39226611019 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The competency domains proposed by National Council of
Teacher Education are

a. Content. Contextual Competencies

b. Conceptual. Performance Competencies
L a correct

. b correct

a. b not correct
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a. b correct
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1. % 1

2. % 2

3.%83

4.4 4

Question Number : 20 Question Id : 39226611020 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The main objective of this programme is to achieve 100%
retention by 2010.
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1. APPEP
2. DPEP
3. APSHP
4, SSA

Options :

1. % 1

2. % 2

3.%3

4.9 4

Question Number : 21 Question Id : 39226611021 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose correct answer regarding Compulsory Life Skills
coined by UNICEF, UNESCO, WHO

i.  Thinking skills a. Emotional control.
Overcome peer pressure

ii. Social skills b. Self understanding,
Problem solving
iii. Nagotiation skills ¢. Empathy. Speak effectively

UNICEF. UNESCO. WHO (35750 @8558 2335 SRET(OL
D00PoN HTI VN0 80Tk,

i eSS o 2. &BFK AeHO(Ees, BRI ©
2.8% eQRoBE0
i, urRs Poerier b Xah OSmIRS, K5O 8o

L. D00 Jyerger ¢ BFELIrd, Shfsosor

G
20D
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Options :

1. % 1

2.¢ 2

3. %3

4. % 4

Question Number : 22 Question Id : 39226611022 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose correct answer regarding ISM and 1t’s Educational

objectives.

a. Idealism . Self realisation, Will power

b. Naturalism . Holistic personality development,
Children experiences are lessons

€. Pragmatism . Law of utility, Law of integration
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Options:
1. %1
2. % 2
3.% 3
4.4 4

Question Number : 23 Question Id : 39226611023 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



This suggested for Holistic and well-rounded development of
learners with 21* century skills

1. NPE - 1986
2, Kothari Commission
A Secondary Education Commission

4.  NEP-2020
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3. ¥oEd Do SHER)
4. NEP-2020
Options :
1. % 1
2. %2

3. %3
4.4 4

Question Number : 24 Question Id : 39226611024 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



This scheme is designed to enable out-of-school children to
reach a certain level and enter a regular school i a class

appropriates to their age is

1. KGBVS Scheme
2. Open School Scheme
3. Saksharatha Bharat mission
4, Bridge School Scheme
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1. % 1
2. %2
3. %3
4. ¢ 4

SectionId:

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :
Number of Questions to be attempted :
Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Section 3
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Question Number : 25 Question Id : 39226611025 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the sequential order of language development.

a. Pre-lingual stage

b. Sound 1mitation stage

& Babbling stage

d. Language comprehension stage
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Options :
1. % 1
2.¢2
3. %3
4. % 4

Question Number : 26 Question Id : 39226611026 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify incorrect statement(s) among the following

a. Solitary play - Child likes others touching
his objects

b. Parallel play First social activity of a child

¢. Co-operative play It 1s not a social play
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Options :

1. % 1

2. % 2

3.3

4. % 4

Question Number : 27 Question Id : 39226611027 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the correct pair among the following
1. Model of Perception - Bandura

2 Education Determinism — J.B. Watson

L

Environmentalists — Douglas and Holland

e

Hereditary Genius — Francis Galton
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Options :
1. % 1
2. % 2
3. %3
4.4 4

Question Number : 28 Question Id : 39226611028 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Gathering of all students at playground by listening to the
whistle sound of a Physical Education teacher. indicates this

learning

i Conditioned learning

2. Programmed learning
3 Trial and Error learning
“3 Social learning
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Options :
1. ¢ 1
2. %

3. % 3
4. % 4

Question Number : 29 Question Id : 39226611029 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The boy who knows about black cat, treats black puppy as a

cat. This is
1. Assimilation
2 Accommodation
3. Adaptation
4. Organization
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Options:
1.4 1
2. %2
3. %3
4. % 4

Question Number : 30 Question Id : 39226611030 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Match the following and identify the correct answer

i. Rote memory a. Remember a new students
name for a few minutes

ii. Associative memory b. Recall the answers during the
exam

iii. Short term memory  c¢. Learning tables in early age

iv. Active memory d. Taste of freshly cooked food
reminds ones mother
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4, 1-c, 1i-d, ii-a, iv-b
Options :
1. % 1
2. %2
3. %3
4.9 4

Question Number : 31 Question Id : 39226611031 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The highest class that the Educable Mentally Retarded
children can study is
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Options :

1. % 1

2. % 2
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Question Number : 32 Question Id : 39226611032 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

An 8 year old girl completed intelligence test for 12 years age.
Her IQ 1s
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Options :

1.9 1

2. %2
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Question Number : 33 Question Id : 39226611033 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Formula to find the skewness
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Options :
1.9 1
2. % 2
3.%3
4, % 4

Question Number : 34 Question Id : 39226611034 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The linguist to explain the concept of ‘Language Acquisition
Device’ 1s

k. Bandura
2 Kohl Berg
3 Noam Chomsky

4. John Stuwart Mill
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Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 35 Question Id : 39226611035 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



One of the following is an example for *Association of ideas” -
a memory technique.

1. Remembering Shajahan when listen to the name
Tajmahal.
2. Reciting tables and poems.

b

Unable to remember the known thing.
4, Repeat the sentence with more number of words.
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Options :
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2. % 2
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4. % 4

Question Number : 36 Question Id : 39226611036 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



This hormone 1s also called as ‘Fight or Flight™ hormone.

1. Thyroxine
2. Testosterone
3. Estrogen

4. Adrinaline
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Options :
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Question Number : 37 Question Id : 39226611037 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



According to Erickson. ‘Industry — Inferiority” are the
characters of this stage

L. Play stage

2. School stage

Adolescent stage

4, Middle stage

JOEOS (HST0 FWOBEO - Mg’ @RS B $¥ oferen

Td

4 @m nl]
i TET &F
3. T8 8%
4. Neshir PNIAL:]
Options :
1. % 1
2.% 2

3. % 3
4. % 4

Question Number : 38 Question Id : 39226611038 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



According to Vvgotsky. this plays a dominant role in the
development of intelligence among children

1. Private speech
2. Social speech
3. Silent inner speech
4, Directional speech

TS, B0 beo [Py IS0’ BT
S SoEIE.

1. (Pt (Bdoro

. PO (BR0N0
3. E}-a‘gg @D@ﬁ@ @ono
4. o8BS (Bdoro
&2
Options:
1.9 1
2. % 2
3. %3
4. % 4

Question Number : 39 Question Id : 39226611039 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



A person doesn’t like coffee and tea. But it is compulsory to
select one of them. Conflict here 1s

1. Approach - Approach
2, Avoidance - Avoidance

Approach - Avoidance

LS ]

phe

Dual approach - Avoidance

k.

Gwiiold - &Rl

2OTE - DOTY

1

3. Gl - HOTEY

4, ESES Gl - DO

Options :
1. %1
2.9¥ 2
3.%3
4. % 4

Question Number : 40 Question Id : 39226611040 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The book ‘Frames of Mind’ written by Howard Gardener

explains about
I Learning difficulties
= Assessment procedures

Multiple intelligence

LS ]

e

Aptitude tests

i

(S}
&

-4
O
afs
y,
i

Options :
1. % 1
2. % 2
3.3
4. % 4

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 41 Question Id : 39226611041 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes

y&"_ f""uwgﬂﬁﬁtbﬁm PR0) &8 POE’ (ogo I

Section 4

392266345
4

Online
Mandatory
24

24

12

0

1
392266355
Yes



Correct Marks : 0.5 Wrong Marks : 0

208 3"@6&}55.} e9) e@ 3‘@50?@@'5 22850800,
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L ©-©, e3-0%, J-», S3-0
2z 8-, -3, 3-d, B3-§
3. ®-0, e-db, -, S3-J
4. -9, -0, -3, S3-d

Options :

1. % 1

2.¥ 2

3.%3

4, % 4

Question Number : 42 Question Id : 39226611042 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 43 Question Id : 39226611043 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. %1
2. % 2
3.%3
4.¥ 4

Question Number : 44 Question Id : 39226611044 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2. % 2
3.3
4. % 4

Question Number : 45 Question Id : 39226611045 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :

1. % 1

2. % 2

3. % 3

4. % 4

Question Number : 46 Question Id : 39226611046 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :

1. %1

2. % 2

3.3

4. % 4

Question Number : 47 Question Id : 39226611047 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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1. %1
2. % 2
3.3
4. % 4

Question Number : 48 Question Id : 39226611048 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2.¥2
3.%3
4.% 4

Question Number : 49 Question Id : 39226611049 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2.% 2
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4. % 4

Question Number : 50 Question Id : 39226611050 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

200 IS° KRESTO¥ Do BEKD B0

i T35
2. Do Sec
3. SPen ERIeD
4. qu“'n::r:}c‘ifobw
Options :
1. % 1
2. % 2
3.% 3
4. + 4

Question Number : 51 Question Id : 39226611051 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
éﬁéﬁao) B Barardd Ho2080d) HosEIA.

1. S0TPE S5O - @ﬁads:a SR BITHO
2. 2SN - %@cﬂr SEOYR DBIT00
3. wrogdten - 95 SENOR B0
4. 25o23ee5 - u@:g SEOYDRA DITHO
Options:
1. % 1
2. % 2
3.% 3
4. ¥ 4

Question Number : 52 Question Id : 39226611052 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes



Correct Marks : 0.5 Wrong Marks : 0
208 IS’ $/IO.
1 ‘@ Ko - 1UU
Z. ‘S Ko - UUU
3. ‘a’ Keso - U U
4. Y Keao - U
Options :
1. %1
2.9 2

3. % 3
4. % 4

Question Number : 53 Question Id : 39226611053 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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3. SLhiSVl I leloglele
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Options :
1.4 1
2. %2
3. %3
4. % 4

Question Number : 54 Question Id : 39226611054 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2. % 2
3.9 3
4. % 4

Question Number : 55 Question Id : 39226611055 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2.9 2
3.%3
4, % 4

Question Number : 56 Question Id : 39226611056 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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1. 535m 855
2 eParOTeN
3. ﬁgama‘.‘é &Ee‘.ﬁ
4. @}%Dﬁ
Options :
1. % 1
2. % 2
3.% 3
4, % 4
Sub-Section Number : 2
Sub-Section Id : 392266356
Question Shuffling Allowed : Yes

Question Number : 57 Question Id : 39226611057 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options:
1. % 1
2. % 2
3.3
4. % 4

Question Number : 58 Question Id : 39226611058 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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1. ©, 3
2. e, B3
3. e, g
4. e, 53

Options :

1. %1

2. % 2

3.¥3

4, % 4

Question Number : 59 Question Id : 39226611059 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 60 Question Id : 39226611060 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 61 Question Id : 39226611061 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1.4 1
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3. % 3
4. % 4

Question Number : 62 Question Id : 39226611062 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
(&Y %;oméﬁ 5\ETE D58 D:Scsﬂﬁ 555 BETod
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1.  NEP- 2020
2.  NEP- 1986
3.  NEP- 1992

4, NEP - 1966

Options :
1. %1
2.¥ 2
3.%3
4. % 4

Question Number : 63 Question Id : 39226611063 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Options :
1. %1
2. % 2

3.3
4. % 4



Question Number : 64 Question Id : 39226611064 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
(28w, B)0sSe Sreormr ©HoB (PIen, o,
i leTn ;izntﬁ@di:@ B0,

1 & D3 (¥earo
I " e’
2, n}j@ﬂ“jg;l'“uﬂ
;3 BoF LT TS0
4. K000 ASTHIH0
Options :
1. %1
2. % 2
3.3
4. % 4
Section 5
Section Id : 392266346
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 24
Number of Questions to be attempted : 24
Section Marks : 12
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266357
Question Shuffling Allowed : Yes

Question Number : 65 Question Id : 39226611065 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose the interrogative form of the statement “She plays
tennis on weekends™.

i Is she plays tennis on weekends?

2. Are she play tennis on weekends?

sl

Do she plays tennis on weekend?
4, Does she play tennis on weekends?

Options:

1. %1

2. %2

3.%3
4.9 4

Question Number : 66 Question Id : 39226611066 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
They have visited Paris before.
Choose the negative form of the sentence given above.
1. They do not visit Paris before.

2. They did not visit Paris before.

(8]

They have not visited Paris before.
4. They not have visited Paris before.

Options :
1. % 1
2. %2
3.¥3
4. % 4

Question Number : 67 Question Id : 39226611067 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose the singular noun from the following

1. media

-2

strata

axis

(S ]

4. fungi

Options :
1. % 1
2. % 2
3.3
4. % 4

Question Number : 68 Question Id : 39226611068 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the past tense of the verb “telecast’

1. telecaste
3. telecast
3. telecastied

4, telecastid

Options :
1. %1
2.9 2
3.%3
4, % 4

Question Number : 69 Question Id : 39226611069 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



I (ask) to mend that window for six weeks. When
are you going to do it?

Choose the option that fits the blank.
1. have been asked you

2. have been asking you

(S ]

was asking
4, am asking

Options :

1. % 1

2.¥2

3. % 3
4. % 4

Question Number : 70 Question Id : 39226611070 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
I (know) the result in a week.
Choose the option that fits the blank.

1. am knowing

12

was knowing

will know

(8]

4. knowing

Options :
1. % 1
2. % 2
3.3
4. % 4

Question Number : 71 Question Id : 39226611071 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Harshitha aimed becoming an air hostess.

Choose the preposition that fits the blank.

1. by
Z. at
3. to
4. n

Options :

1. %1

2.9 2

3.%3

4. % 4

Question Number : 72 Question Id : 39226611072 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

We have been here since 4 O clock.

In the above sentence. ‘since’ mdicates.

1. point of time.
2 period of time
3; reason

4. method

Options :
1.1
2. %2
3.%3
4, % 4

Question Number : 73 Question Id : 39226611073 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose the word with a silent “g”.

1. glorious
2. argue
3. reign
4. gigantic
Options:
1. %1
2. % 2
3.3
4. % 4

Question Number : 74 Question Id : 39226611074 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the word that comes in the fourth place when the
following words are arranged in alphabetical order.

1. apple
2 bear
3 ball
4. bat

Options :

1. %1

2.¥2

3. % 3

4. % 4

Question Number : 75 Question Id : 39226611075 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



[ am on night duty. When yougoto . Igoto

Choose the option that fits the blanks in the sentence above.
L. bed. the work

the bed. the work

bed. work

4. the bed. work

12

LI |

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 76 Question Id : 39226611076 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Bombay is Manchester of India.
Choose the article that fits the blank.
8 the
2. a

LS ]

dan

4. No article 1s needed

Options :
1.1
2. %2
3.%3
4. % 4

Question Number : 77 Question Id : 39226611077 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The poem “Wind™ is written by Subramania Bharati in Tamil
and 1s translated into English by

1. Jean — Jacques Rousseau

28 Immanuel Kant

Tad

A K. Ramanujan
4, Friedrich Nietzsche
Options :
1. % 1
2. %2

3.3
4. % 4

Question Number : 78 Question Id : 39226611078 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Which of the following short story is written by Leo Tolstoy?
1 The Beggar
2. Three Questions

The Adventures of Toto

4. Kabuliwallah

(8]

Options :
1. %1
2.¥ 2
3.%3
4, % 4

Question Number : 79 Question Id : 39226611079 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Which of the following is not a typical feature of an editorial:

L. in-depth analysis of facts and figures.
2. emotional appeal to the readers
3. authoritative tone
4, Yellow journalism
Options:
1. %1
2. %2
3.%3
4. 4

Question Number : 80 Question Id : 39226611080 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Choose the correct statement about the length of a precis:
1. It should be longer than the original text.

2. It should be about the same length as the original text.

(S ]

It should be shorter than the original text.

4. It should vary depending on the reader’s preference.

Options :

1. % 1

2. % 2

3.¥3

4, % 4

Sub-Section Number : 2
Sub-Section Id : 392266358
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 39226611081 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



In the cognitive domain, comprehension refers to:
k. Understanding of new knowledge

2. Application of Principles

3 Breaking down elements.

4, Forming values.

Options :
1.9 1
2. % 2
3.%3
4. % 4

Question Number : 82 Question Id : 39226611082 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the type of assessment that the Constructivist
Approach prioritises.
p Memorisation tests
2 Group discussions
3. Passive listening
4, Teacher - centred tests.
Options :
1. % 1
2.¥2

3.% 3
4. % 4

Question Number : 83 Question Id : 39226611083 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Identify the component of reinforcing that involves praising or
appreciating students using verbal expressions.

1. Positive verbal reinforcement
2 Negative verbal reinforcement

Positive nonverbal reinforcement

LS |

4. Token reinforcement

Options :
1.1
2. %2
3.%3
4, % 4

Question Number : 84 Question Id : 39226611084 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the technique that involves students rewriting a text
using their own words.

1; Transformation of sentences
2. Paraphrasing
3. Syntax
4, Skimming
Options :
1. % 1
2.2

3.%3
4. % 4

Question Number : 85 Question Id : 39226611085 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose the incorrect statement about speaking strategies:
1. They help learners manage communication situations.

2, They are irrelevant for beginners.

[ ]

They aid fluency and naturalness.
4. They add emotions to speech.

Options:

1. %1

2.¥2

3.%3
4. % 4

Question Number : 86 Question Id : 39226611086 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Choose the primary goal of peer-to-peer teaching:
L. To create competition among students

2. To replace traditional classroom teaching methods

LS ]

To foster collaboration and learning

4. To segregate high-achieving students from the rest.

Options :
1. %1
2. % 2
3.¥3
4. % 4

Question Number : 87 Question Id : 39226611087 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The main objective of instructional planning is:
1 Ignoring learner’s needs.

.4 Developing a unit plan

3. Identifving desired outcomes of learning

4. Establishing connections with learners.

Options :
1. % 1
2. %2
3.3
4, % 4

Question Number : 88 Question Id : 39226611088 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Select the icorrect statement about the global influence of the
English language.

L English is used in many countries also 1n the world.

Z English is spoken globally as the first language.

Tad

English 1s often used as a lingua franca in international

communication.

4, English helps us get access to global education.
Options :
1. %1
2.2
3.%3
4. % 4

Section 6

Section Id : 392266347
Section Number : 6
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

24

24

12

0

1
392266359
Yes

Question Number : 89 Question Id : 39226611089 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Identify the statement which is NOT TRUE.

1. Number of factors of a given number is finite.

2. Number of multiples of a given number 1s infinite.

Tad

number.

Every multiple of a number is less than or equal to that

4, Every factor of a given number 1s less than or equal to

the given number.
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Options :
1. % 1
2. % 2
3.3
4. % 4

Question Number : 90 Question Id : 39226611090 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0



Number of integers lying between 88* and 89°

88250050 89%e QJ@S ne ‘Q}'ﬂg ‘ﬁoa:ge.: Rﬁoaaé

1. 175
2. 176
3. 177
4, 178

Options :

1. %1

2.9 2

3.%3

4, % 4

Question Number : 91 Question Id : 39226611091 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If the angles of a triangle are in the ratio 3 : 4 : 5 then the
difference between the larger and the smaller angles is

2.8 (@20z08™) Seen 3 1 4 1 5 IYAS® &08 ©d Y,
) {'}E.D oo mct:-s S

L. 15°

2. 450

3. 30°

4. 60°

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 92 Question Id : 39226611092 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



On a certain sum if the interest paid after three years at 5%
rate of simple interest 1s T 450 then. the sum 1s

£08 200D 5% FTUe 5¢ e’ 3 05T

BYODT a.u% T 450 ond, eben

L < 3000
2. 34500
3. <4000
4. <1500

Options :

1.1

2. % 2

3.%3

4, % 4

Question Number : 93 Question Id : 39226611093 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If V. F and E represent number of vertices, faces and edges of
a polyhedron respectively. then the relation among them is

V.F 3500600 E en SB[/ 250509 pokkoe S
%CEE}J, Sogren S0 eothe ‘éoangm BVrdons, I

mﬁﬂ; OO0 0

1. V+E=F+2
2. F+E=V+2
3. F+V=E+2
4. F+E+V=2

Options :

1. %1

2. %2

3.4 3
4. % 4



Question Number : 94 Question Id : 39226611094 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If the adjacent angles of a parallelogram are in the ratio 4: 5
then. the measure of the smallest angle in that parallelogram is

¥ Dairodiy iiiégdaejﬁoés e:s‘;f:u;a oo ﬁ?.’:g@ 4 : 5 0w,

e3 NS0y 5@35@@0@5‘5 ) 500 o

1. 160°
2; 120°
3. 100°
4. 80°

Options :

1. %1

2. %2

3.%3

4.9 4

Question Number : 95 Question Id : 39226611095 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

These following sides (in cm) do not form the right angled
triangle

Eo& eq;‘;;sa:cqass 2heres® (0.2, of°) wonsls @Beﬁaﬁ‘ﬂﬁb

Dtﬁ}ﬁzﬁi’}ﬂ
i 3.5
2 1,24, 25
3. 8: 12,13
4. 11. 60. 61
Options :
1. %1

2. % 2



3.4 3
4. % 4

Question Number : 96 Question Id : 39226611096 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

{, m and n are the three straight lines in a plane and
[ Lm, mLn then,

[ m 508050 n o0 2.5 $008°Y S Do R0,
o08ain L m mlLn eoxns,

1. [ n
2 m || n
3. Iln
4, [|m]||n

Options :
1.9 1
2. %2
3.%3
4. % 4

Question Number : 97 Question Id : 39226611097 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Subtract 3x(x+ y+2)=2y(x—y+z) from 4z(-x+ v+ 1)

3x(x+ v+ 2)=29(x— y+2) S Az(—x+ y+12)5008 BBIcH04.

1. 3xt=2y" =227 =3xy+ 42+ 62x

2. 3x° =4y” =527 = 2xy =33z 4 2zx

< =32 +2y* =62" —4xy+3yz—=5zx

4. =37 =2V 47 = xy+ 61z = Tzx
Options :

1. %1



2. % 2
3.% 3
4.9 4

Question Number : 98 Question Id : 39226611098 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Observe the given expression and find the TRUE statements
Expression: 4p’q—7pq° +7
A.  Numerical coefficient of p°g 15 4
B.  Numerical coefficient of pg® 15 7

C.  Expression contains three terms

208 ¥R $8390d ‘E&-és J“L‘SASJJ@FSJ ¥oAS0ok.

V3OS0 ¢ 4pg-Tpg’ +17
A. p'q By dogrg foetin 4
B. pq’ &Y DOy HoEakano 7
C. RTPR00 Haoei Doresn O/ E@Eﬁ
1. A B, C
2. A.C
3 B
4, B.A

Options :

1. %1

2.9 2

3.%3

4. % 4

Question Number : 99 Question Id : 39226611099 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



If (1—1) [1—1) (1—% ...(1—L]:2*' then the value of ‘x’ 1s
2 3 4 128
(]—l) [l—l] (1—1) ...(1—L]:2” ©o0S Y Jewns
2 3 4 128

L. 7

fad
|
(.}

Options :
1. % 1
2. %2
3.%¥3
4.+ 4

Question Number : 100 Question Id : 39226611100 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Observe the following pattern of squares. The rule that gives
the number of matchsticks required to follow the pattern is
(here ‘n’ 1s a variable)

208 SB[ WDHBED KidI0WN0k. B3 eDHOED BAHE)

3 TVEI0S &Sﬁ'@%}jﬂ ‘:{'}033553 B R0 (qﬁb_dé ‘n’

2% S80°8)
4 7 10
1. a1
2. 3(n+1)
3. 4n
4. 4n +1

Options:



1.9 1
2. % 2
3.%3
4. % 4

Question Number : 101 Question Id : 39226611101 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The probability of getting an ‘ace’ from a well shuffled deck
of 52 playing cards is

2T Xeonods oY 5%35533‘ 52 5o $o0& 2.8 NS =

otk

2P0 ‘{302.3'“’;559‘_5

L. —
26
5, o
13
__ 3
¥,
13
4. =
26
Options :
1. % 1
2.9 2
3.%3
4, % 4

Question Number : 102 Question Id : 39226611102 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



One of the following statements is NOT TRUE
1. Number of line symmetry of a parallelogram is ‘0’
2, The angle of rotation of an equilateral triangle is 60°

The order of rotational symmetry of square is 4

[N ]

4. Number of vertical line symmetry of letter ‘H’ is 1
200 TS H95°A

L Ri55r0es ﬁeﬁsﬁaﬂﬁ;ﬁméﬁa e %v*%;f&aw oy ‘0’

2. RN (@ahakn Swok). [@Fes 560 60°
o v — ’1( w LT P ¥ L7 4
3. BELY(PO DoY), (gSoes %ﬁﬁu} B850 4
] L ~ v 2 e o, e
4, H e 30/ @E0"VS Jens %“ﬁu} Bpo SR 1
Options :
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 103 Question Id : 39226611103 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Aditya divides a circular disc of diameter 2cm into two equal
parts. Then the ratio of the perimeter of the semicircular disc
to the diameter 1s

e
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BT POLOTED. W0 of HESY &F), Hens'e
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1. 22 ;7
/] 7222
3. 18 :7

4, 42 18



Options :
1. % 1
2. % 2
3.3
4. % 4

Question Number : 104 Question Id : 39226611104 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If a rectangular piece of paper of 4cm x 2cm is folded without
overlapping to make a cylinder with a height 2cm. then its
volume in cm’

4 0., x 2 D0.. Fodes Ko OY SE¥@sy sAdo
2.5 00w HE”E ©0iP SIBOSHOE 2 0., I Ko

i o e e oY as e n L — =
2.8 :ogaar:m"’ 50530 PR BS5HBSIe0 m.ao.m.e_ﬁrﬁs

[ gh
11
5 2o
11
6
. 4=
11
4
4. 1—
Nl
Options:
1. % 1
2.9 2
3.%3
4. % 4
Sub-Section Number : 2
Sub-Section Id : 392266360
Question Shuffling Allowed : Yes

Question Number : 105 Question Id : 39226611105 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



‘The knowledge of numbers, mass and measurement is the
mathematics’. is defined by

1. Benjamin Pears
2. Bertrand Russel
3 Pascal

4. Bell

vogps, 0°8, SrdIre ﬁze;;ﬁa Redes0’ @ ABDODZT
L. BoadsS &)

2. Bo)s sS

3. il“}‘éb_g

4. BS

Options :
1. %1
2. % 2
3.%3
4. ¥ 4

Question Number : 106 Question Id : 39226611106 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Educational values according Munnik classification

a. Utilitarian values
b. Preparatory values
C. Cultural values

d. Information

e E e B ae . b
m}%g m%;&n (@S 80 5)::5“5 eV 5e1)
4. (@&Brred aea5e1)

b. ?og:aaﬁ Nensen

c. i}“@ﬁ@@ﬁ Dewssen

d. IS Lt eTe)
1. a. b.d
2 a.b.c
3. b.c.d
4. a.e.d
Options :
1. % 1
2.¢2
3. %3
4, % 4

Question Number : 107 Question Id : 39226611107 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The Book ‘DATA’ was written by

¥: Srinivasa Ramanujan
. Aryabhatta
3. Pythagoras
4, Euchid
e & (0GP SDODST
L B0 orairdome
b &35525%
3. REREQ
4. o3&
]
Options :
1. % 1
2. % 2
3.%3
4. 4

Question Number : 108 Question Id : 39226611108 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Specification for the objective ‘Application’

1. Generalises

2. Classifies

3. Estimates

4. Recall

‘NN BreKeyEe’ i
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Options :



1.9 1
2. % 2
3.%3
4. % 4

Question Number : 109 Question Id : 39226611109 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The name given to the system of calculations by Greeks

1. Arithmetica

2, Logistica

3 Composite numbers
4, Prime numbers

(A%en Ko T3 DS DO

1. e EdsT
-]
2. e S
[ ]
3. DO ‘éo@gm

4. (RF°S ‘K}Ga:néau

Options :
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 110 Question Id : 39226611110 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The following is not the limitation of the Synthesis method

1. More homework

2. Pupils are inactive

3. Pupils cannot understand concepts completely
4. It 1s a lengthy method

208 AS° H0FAE DEB Bk, DBV T8

1. ) 308 D
2. 2}5“563@3 NEVENTT &0LED
v @ =@
3. ATGRen S0TOH YPBT eSS DB
4. 3B Tror BRI HEB
o= &
Options:
1.% 1
2. % 2
3. % 3
4. 4

Question Number : 111 Question Id : 39226611111 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



This is not a learning indicator of Academic standard
communication among the following

i Solves the problem in suggested methods

2. Create mathematical expressions

3. Explains mathematical methods

4, Explains mathematical ideas in their own words
308 >AS” HEERBEO & ITYBSrerAS ToE

eﬂﬁgéﬁ Bl

L XeDodS HEBS” Ddg FRTD.
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2. K3 SEPS SEEe0R ErPoBRL.
3. N3SIEIN0 TGS HP B0 ISOT.
4. KBS 95, e E50Mm K08 Ireed’ 0T

Options :
1.9 1
2. %2
3.%3
4, % 4

Question Number : 112 Question Id : 39226611112 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This commuittee stressed to start Maths clubs i schools
K3sESom FETos” |TE0omred KrdodS Eed

1 NEP-2020
2 NEP-1968
3. NPE-1986
4. NEP-2005

Options :

1. % 1

2. %2

3.3



Section Id :

Section Number :
Section type:
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 113 Question Id : 39226611113 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The instrument that is used to measure human blood pressure

1S
|| Spectrometer

2. Barometer

3. Electro cardiogram
4. Sphygmomanometer

Section 7

392266348
7

Online
Mandatory
24

24

12

0

1
392266361
Yes

SrSHR 8 HETI) PoscdE E8ESrRoD 0550,

i “'@@E&J&g

2. eG® D6
3. dolE s*g::?mkﬁﬂﬁ:
4. ﬁgfﬁé 53t e
Options :
1. %1
2. % 2

3.%3



4.4 4

Question Number : 114 Question Id : 39226611114 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The menopause age in females (in years) is
ReS® DS>E Sa0) (}fm;ﬁe%ﬂﬁmés)
L. 15-20
7.3 35-40
3. 45 -50
4. 70 -75

Options :
1. %1
2. % 2
3.3
4, % 4

Question Number : 115 Question Id : 39226611115 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
‘Roughage’ in animal fodder contains
1. High fibre
8 Only proteins
3. Equal quantities of fibres and proteins
4. High proteins and low fibre
BHITROS™) TR o8 JO) I &L
L e o B5go
@5655@: Som(g8ad

3555 H0e208” HEHTLO OGN (FEIen
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Options :



1.9 1
2. % 2
3.%3
4. % 4

Question Number : 116 Question Id : 39226611116 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the carrier for Dengue

L Female Anopheles mosquito
2. Female Aedes mosquito

3. Male Anopheles mosquito
4. Female Culex mosquito

GONrg TaS™R) H0W06
1. 38 Trad8 &%
esti DES &%

o8 O &%

oW

escs 5‘356% S5

Options :
1. %1
2.9 2
3.%3
4, % 4

Question Number : 117 Question Id : 39226611117 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The Bird that can build a nest with its opening at the lower end

15

1 Wood pecker
2 Sparrow

3 Weaver bird
4. Crow
e

1 aﬁ@aﬂ o)
=%
2 E.‘aii:lljif
3.  Aama (S %3)
4. 53
Options :
1. % 1
2. % 2
3.¥3
4, % 4

Question Number : 118 Question Id : 39226611118 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The book “Gait of Animals’ is written by

1. William Harvey
2. Aristotle
3. Ronald Ross

4 Louis Pasteur
T esH os:u:a;ﬁ:.es:)' DRER) BDoAIH.

1. DS W‘S@S
2 @a:géie?
3. Eﬁaﬂeg oo
4 QPan il"%Jg
Options :
1. %1
2.¥2

3.%3
4. % 4

Question Number : 119 Question Id : 39226611119 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The best practice to celebrate ecofriendly festival
1. Buming crackers instead of traditional lights.
2. Using recycled materials to decorate the houses.

Using the plastic plates instead of Banana leaves.

fad

4. Using synthetic colours to make idols.
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4.  JESPen $air83 1oBE Borben AAISAcSEo.

Options :
1. %1
2.9¥ 2
3.%3
4. % 4

Question Number : 120 Question Id : 39226611120 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose the correct answer based on given statements

A Symbionts grow on dead and decaying organic matter

B:  Mushrooms are good example for symbiosis
i Both A and B are correct
04 A is correct. B 1s incorrect

A 1s mcorrect. B 1s correct

LS ]

4. Both A and B are incorrect

PHDES (PEOTO ST BT BITES0 JoiE ok,

Al draSses SJPons HYHVPEDY) SKTTToR
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4. A H8c» BToEr $3ID st

Options :
1. % 1
2. %2
3.%¥3
4.9 4

Question Number : 121 Question Id : 39226611121 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The endocrine gland that is located in the Neck region is

1. Pancreas
4. Testis
3. Thyroid
4. Adrenal
& 2rros® sod SoSHI) (o)
i 8550
[ 8
2. ;5.33?’.:.{]_0
3. @ng
4. ﬂ&&i@)ﬁb lela
Options :
1. % 1
2. %2
3.4 3
4. % 4

Question Number : 122 Question Id : 39226611122 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Assertion A: Phases of moon are due to the position of the
moon in its orbit.

Reason R:  Moon is visible due to reflected sunlight from its
surface.

Choose the correct answers

1. A and R are True: R 1s the correct reason for A
2 A and R are True; R 1s not a correct reason for A
3. A 15 correct and R 1s incorrect

4. A 1s incorrect and R 1s correct

BELS Al Sohd K558° o T JoF So|EEven
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DE\EEaw.
5020 Ri S0lGi, 07 30800 &006 2ort(seod
DO°HET0 BOGEO Y KT,
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L. A58ci» Rew $850: R &30 A H50&S 528600
2. A5Bci» Ren $80: R &30 A3 $0&S 578800 576,
3. A DdDosH $08c5n R ¥[SD 570
4. A STID 50 $00c5» R 8358
Options :
1.41
2. %2
3.%3
4. % 4

Question Number : 123 Question Id : 39226611123 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Choose the correct one

B Mime Artists — Sign language
Q. Dancers - Mudras

1. Only P is correct

2 Only Q is correct

LS

Both P and Q are incorrect

4, Both P and Q are correct

DOTOS T LBoBok.

DD EFesthen - Do 2R

Q. 553955 Eemsrioen - LSn(fen
1 P 5835 000D
2 Q Sr|g BOToSO
3 P S08din Q Dok X057
4 P 3508cin Q Dodr 5DSa)
Options :
1. %1
2. %2
3.% 3
4.4 4

Question Number : 124 Question Id : 39226611124 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The Pitch of the Sound depends on its
E, Wavelength

2. Frequency

[N ]

Time period
4. Loudness
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Options :
1. %1
2.9 2
3.%3
4, % 4

Question Number : 125 Question Id : 39226611125 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Cleaner fuel among the following

1. Wood
2. Coal
3 Petrol
4, Compressed Natural Gas
208 FS° 24i5) 0850
1. ?:J_%_
2. NofK
3 "J.J@Sﬁg
4. ?:’::oﬁnc‘ég PP A0
Options :
1. %1
2. % 2
3.%3
4.4 4

Question Number : 126 Question Id : 39226611126 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



When a bar magnet is placed on iron filings. then the iron
filings get attracted

. two ends of a bar magnet

2, more towards the center of a bar magnet

fad

around the bar magnet

4. all areas of a bar magnet equally
2.8 SOEADTY 0GR FOHEIE” SODSHPE, &5 gaowd
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Options :
1.4 1
2. %2
3. %3
4. % 4

Question Number : 127 Question Id : 39226611127 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



Heating effect of electric current : Electric stove : : Magnetic
effect of electric current :

I, Electric bell
2. Electric bulb
3. LED

4. Hair dryer
S (BT0 oS KOR &3 SIS0 : AogS rawy
S (BT0 S KOA ciI),08 SIS0 :

/g 3}&3;55 Kot

2. ﬁd}ég 2e0)
3. 26.3.5
4. rawd [Gad
Options :
1.4 1
2. % 2
3.%3
4. % 4

Question Number : 128 Question Id : 39226611128 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



When Carbon dioxide is passed through the lime water it turns
milky white due to the formation of this compound

i. Calcium Oxide
2. Calcium Hydroxide
3 Calcium Carbonate

4, Calcium Sulphate
3*6235 = @EE TSP WD R KOG (ST R0DTHE
o8 FoSB Ber rSEA3 U0 B3 m:fu&v}’ﬁo Dtac:édo

1. 530 &a@n}g
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Options :

1. % 1

2. % 2

3.3

4. % 4

Sub-Section Number : 2
Sub-Section Id : 392266362
Question Shuffling Allowed : Yes

Question Number : 129 Question Id : 39226611129 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



“Science 1s both a body of knowledge and the process of
acquiring knowledge.” 1s stated by

1. Watson

12

Williamson

Td

Frederic Fitz patrick
4, Kilpatrick
R) & ) DO TR VOB (HESHI KA
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2. DOS0oHS
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3. (>e&0S cpeg |35
4. 3S>35

Options :

1. % 1

2. %2

3.¥3
4. % 4

Question Number : 130 Question Id : 39226611130 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



According to State Curriculum Framework — 2011 this 1s NOT
a part of systematic reform.

1. Strengthening of supporting systems
2, Designing of performance indicators

Providing infrastructure

fad

4. Giving financial support to parents
O (RE57R5° L0 - 2011 [B5E0 H§HarDE[0
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Options:
1. ¥ 1
2. %2
3. % 3
4.4 4

Question Number : 131 Question Id : 39226611131 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0



The theme that is NOT directed by National Curriculum
Framework-2005 is

1. Natural resources

2. Natural phenomena
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How things work?
4. Structure of internal organs
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One of the following does NOT belong to the academic
standard ‘Conceptual Understanding .

1. Classifying
2. Conducting interview
3. Giving reasons
4. Giving examples
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A teacher wants to prepare teaching learning strategies on six
activity based learning principles. He has to study

L National Educational Policy - 2020
2. National Curriculum Frame work - 2005

Andhra Pradesh Primary Education Project

(S

4, District Primary Education Project
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Science fairs at South India Level are organized by this
institution

L. National Institute of Technology (NIT) - Trichy
2 Vellore Institute of Technology (VIT) - Vellore

Visweswaraiah Institute of Technological Museum
(VITM) - Bangalore

Lad

4. Indian Institute of Technology (IIT) - Madras
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Learning areas like organisation. relationship can be clearly

elicited by
il Multiple choice questions
2 Short answer questions

Essay type questions

Tad

e

Objective type questions
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Panel board is an example for this type of teaching material

1. Display table

()

Graphical aid
3D aid

L |

4. Projected aid
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The distance between the Sun and the Earth is about
1. 140 million km
2. 150 million ki
160 million ki

4. 150 Billion km
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Silent Valley movement was mobilized by
1. Center for Science and Environment
2 Karmataka Shastra Sahitya Parishath
3. Sankalpa taru foundation
4. Kerala Shastra Sahitya Parishath
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An apparent force caused by the earth rotation is called

1. Doppler effect

2, Faradays law
3. Kepler’s law
4. Ferrel’s law
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The ‘Gandhara School of Art” was developed around this

region

1. Magadha
2. Delhi

3. Punjab

4. Takshashila
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The 16™ century ruler who died due to an artillery explosion from
the following

1. Humayun
2. Sher shah
Jahangir

Babur
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East Indian Company persuaded this Mughal emperor to issue
a ‘farman’, granting the company the right to trade duty free in
Bengal was

1. Shahjahan

2. Bahadur Shah - I

LS |

Aurangzeb

4, Bahadur Shah - 11
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This was NOT one of the important changes introduced by the
British after 1857 Mutiny

I The land and property of landlords and zamindars was
confiscated.
2. The British decided to respect the customary religious

and social practices of the people in India

3. It transferred the powers of the East India Company to
the British crown.

4. The Governor General of India was given the title of
Viceroy
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He mforms the President about the functioning of the State
government

1. The Governor
2 The Chief Minister
3. The Assembly Speaker
4. The Chief Justice of High Court
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The High Court of Delhi was established in this year
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The final session of the Indian Constituent Assembly was
held on

1. 24™ January 1950
2. 24" January 1949
24™ January 1948
4. 24" January 1947
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“All of us do not have equal talent. But all of us have an equal

opportunity to develop our talents.” This statement was given
by

1. Jawaharlal Nehru
) B.R. Ambedkar
39 Mahatma Gandhi
4 APJ Abdul Kalam
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Before the British conquered Bengal around 1750. India was
the world’s largest producer of

L. Gold

2 Coffee

3. Leather

4. Cotton textiles
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As per the report on Road Accidents in India — 2019, the age
group that 1s prone to 26% road accidents is

1. 45 — 55 years
Z 35 —45 years
3. 25 — 35 years

4.  18-25 years
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It is NOT one of the three zones of mineral deposits in North

America
1. The Canadian region
2. The Appalachian region

The Prince Charles mountains
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4, Western Cordilleras
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‘Moinuddin Chisti Dargah’ is located in

1. Ajmer
Z Delhi
3 Aurangabad

4, Gulbarga
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Telineelapuram and Telukunchi Bird Sanctuaries are located in

L. Vizianagaram District
2 Eluru District
3 Kakinada District
4. Srikakulam District
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In Social Science: Earth — Diversity, Production — Exchange —
Livelihoods. Political systems — Governance. Social
organisation — Inequities. Religion — Society and Culture —
Communication are of

1. Themes
2 Syllabus
Objectives
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4, Implications
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“Social studies 1s the study of society.” stated by
B E.B. Wesley

1o

James Hemmings
LF. Forester
4, John. V. Michaels
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“There should be a Common Core Curriculum for the entire
counfry.” suggested by

1. NEP - 1986

2, Kothari Commission
Mudaliar Commission
4, NCERT
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On the recommendation of this commission. Social studies
was introduced as a major subject in the school curriculum

1. Secondary Education Commission - 1952
2. NCF - 2000
3. Yashpal Committee

4, 10 years School Curriculum - 1975
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Identify the mismatched pairs in Physical maps

a. Red - Desert

b. Yellow - Hills

C. Blue - Rivers and Oceans
d. Dark Green - Plane areas
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The number of Academic Standards in Social Studies
textbooks of class 6 to 10
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The following approaches can be adopted in ‘Problem

Solving’

a. Inductive
b. Deductive
C. Analytical
d. Synthetic
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Identify the conditions where the constructions of knowledge
occurs from the following

1. Pretext. Urge creation. Mental process

.5 Pretext. Information overloading. Thought provoking
3. Mental process. Isolate learning, Pretext

4. Pretext, Demotivation, Participation
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